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· Finish Topic 7

· Review for test

Fcontinue
a

w = d(z)(
* +

3-58]

By the homogeneous subspace
theorem

of IR3
W will be a subspace

Let's find a
basis for W.

Let = () be in W.

Men adda
is Z



Solution is

z = t

②y = 57 =5t

0x = - y =
-5t

Thus
,

i = (E) = (-) = t(-5)
Thus ,

w = span)(-)
So
, B = [(j)] is a basis

for W
. [B is a linearly independent

set since it has one non-zero rector.]
dim (w) = 1 since has 1 rector
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->&v = <- S , S, 17=span (E)
em: (Dimension is well-defined

Suppose W is a subspace of R

Let B ,
=[

,
Essa] and

B2 = S , Ens ... ins] be
two

bases for W .

Then , a
= b.

-



Here is how people usually
define subspace

-

bem: Let W be a subset

of IRh .

Then ,
W is a subspace

if and only if 3 conditions hold :

① is in W

② Closure under addition
) If , En

are in W
,
then

,
the is in W

③ Closure under scaling)
If it is in

mer



&E



A = (02) , B =(i)
Determine if A and Bare

inverses of each
other.

AB = (2))i
(1)(1) + ( - x(0) (i)(z) + ( - 1)(i)(= (101(i) + (2)(0) (0((z) + (2)(i)

= (vi) = In
So
, A and B are inverses.



lY Find A if it existso
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- 65

(So
, A= - I
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⑤(c) Solve
x ,
+ 3x2

+ x3 = 4

2x ,
+2xz

+ x3=

2x ,
+ 3x2 + X3

= 3

by inverting
the coefficient

matrix

Convertthe system into a

matrix equation :



2 2& i)() = (2)) (*)
=A

know Al
0I

Suppose you
0 - 11( 2 3 - x)

Idea: A = 5
->#A"A * = A b

u
*

X = A
+ 5

multiply on left of (4) by At

=I
A
- 1 =#



(=(
-
Y = A

- 1

( 1)(4) + (0)) - 1) + (1)(3)

(Y ) = Is a I
(i)


